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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

.00 A

.15 1

.50 A

. 25 A

.00 -

.15 7

.50 1

Warning: col ['FVOPH ] is missing

60

65

70 75 80

85




2.

1.

0.8 A

0.6

0.4 -

0.2 -

0.

0

.50

.45

.40

.35

.30

.25

.20

0

0

Trend plot forXX6 1

minFVI

minFVO |

Warning: col ['minFViraw , 'minFVOraw'] is

missing

ETcAlraw |

ETcA1
ETcA

tlef

Warning: col [ ETcA2raw’, 'ETcA2'] is missi

0.2

0.4

0.8

Warning: col [ ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

2000 - —@— ECopt

1800 -

16

14

12

10

31.

31.

30.

30.

29.

29.

28.

0.

0.

0.

0.

0.

0.

0.

-0.

-0.

00

00

00

00

5

50

45

40

35

30

25

20

30

28

26

24

22

20

. 04

.02

.00

02

04

50

40

30

20

10

—0— ECI
—@— ECO

A A A A A A A A A A A A A A A A A A A A A A A A A A A AAAAAAAAAAAAA

Warning: col ['ECC’] is missing

AAAAAAAAAAAAAAAAAAAAL

—@— PHopt

Warning: col ['PHC'] is missing

—@— WCperM |

Warning: col [ WCperMraw', 'WCperMavg'] is

missing

—@— minDeltaM

-
——

avgDeltaM |
stdDeltaM

adjFVOR

Warning: col ["adjFVIRraw', "adjFVIR', "adj

VORraw’ ] is missing

FRA
FRC
FRraw

., “:,.,,.»»0:»»»};:‘3?’“”“”””’“‘

° 0.0\0—000—-/

100

——

|

[ ) postFgEtraw |
+
_._

postFgEtavg
postFgEt




- 100
- 80
- 60

- 40

FgDaily

0.0 -
5.0 -

10.0 -
15.0 -
20.0 -
25.0 -
30.0 -
35.0 -
40.0 -
o< 45.0 -




300

250

200

150

100

50

60

50

40

30

20

10

30 A

25

20

15

10

600

500

400

300

200

100

400

300

200

100

80

75

70

65

60

55

XX6_1

—8— ETcl

=@ ETbai

—8— PPFD

il

=T
[ 1 L)

A TAE TP g
-ww“!!lﬂ

;

® !

—&@— ETclis

—0— ETcPT
—@— ETcRn

'L
/n A N "%'A“ a ‘
X S S e it ‘ A iy
.u.oj ‘# xkv!'\"ml"' . -!.’k.'.* - .
%) p”"‘ ol . ¥
" f'l, B l:lv) ~
0 5I0 100 150 200 250



ESo ETclis ETcPT ETcP ETcldef ETcl
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII I

T PPFD | VN pVPD pR  ETbai ETol

RH

1 | 1 1 | 1
ETcl ETcldef ETcP ETcPT ETclis ESo

1 1
ETol ETbai

pR

1.0

0.8

0.6

0.4

-0.2

-0.0

--0.2



9
{ @ o &% ®
@
%0 ¢ o
° ° o® oo
T T T T
1. 3%¢e) %o °
[ ] 7Y e
T T T T T T T T
& &
& @ & @
& e & %
o B (3 2
& % & &
S e & (!
S C - - 5 e
® @ L )
L] { ]
] ® .)\)W - ® o
G. o PO
4
Nl
g o o)
(]
i o o 20 ce
9o ®
]
T T T T T T T T T T T T T T T T
601 o 1 e 1 e i ] L
(] (] (] ]
50 . .
40 ~ B . B
< 30 o 4 e {4 ® . - °
() [ ] (] @
o® o "o: ) e '.(o
201 o g%e® o ¢ Te @ i 1 ¢S
a o @
0] &° ]l 2 I | I
[ ] [ ] [ ] [ ]
. [ ] ° ... : [ ] Py ..
0 T T T T T T T T - T T T T _T— T T T T T T
209
400 - () ® ¢ 00¢ ..\u.‘). 7]
A N ‘!@’
i 5
[ P P s %é
300 - o @§§ - -
e
'l@.
° M
&
i ~ € & J i
200 @h, &€ T
100 0¢
T T T T T T T
0 20 40 200 300 O 20
ETcl

100

200

300 400
I



250

200

150

100

50 -

1.0

0.8

0.6

0.4 -

0.2

0.0

® obs
Fit

200

baiA

baiB

0. 344

0.0125

0.0

0.2

0.4

0.6

0.8

1.

0

60

50 -

40 -

Fit vs obs: a=—0.27, b=25.79,

r=—0.22

-10

1.0

Fit

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1

0



100
0
0
0
0

o
™
©

12:15

Jnoy



XX6

AriE) | EBIATK (FD) | EBE (EH/K) | XK EFRE

08:30 29 10.0 i FH@08:30 (KRFEREE)
12:15 29 10.0 | = Fnfe12:15 (REERSS)
2it| 58.0 (20%) 20.0 323 KEC: 2251, PH: 6.9

E&PH (8.61) 1R
RE XK i3k [B] RECEUR Fh ok

RER BB HEREC/PHEERR, FIREFMIMEELR K




0.2~

016

ET (ml/hr/plant)

>

e
»
»
»
»

o
o
1

0.6
0.4
0.2

a00

300

200

100

20

10

-10

60

40

XX6_1, Day=91

(2025-01-25)

FRV (ml plant-1)
o
~
1

TargetDrainEC=2000. 0, TargetSetEC=2251

TargetDrainPH=6. 0, TargetSetPH=6.9

10 1 ByWoFv @D91 04:33:

ET=20 Fg=20.0 Ro=840

[ 1 AR N Sy p——

9 10

14

15

16

17

18

19

20

21

22

23

| o
m
[
™
I
™
I
™
T,
m
[
™
I
™
I
™
[

%=

%=

%=

%=

%=

%=

%=

A

H (=

1 Warplng:fol [Al_obs‘, PPFD gbs’ ]

is missing

Warning: lcol ['T_obs/] is missing

To_obs

¢p

RH_obs
RHo _obs

0.0 0.2

0.4

0.6

0.8

1.

0

- 20

- 10

FRV (ml d-1)

cumET (ml/plant)






XX6

BfiE) | FEBEETC (F)) | E=E (EH/FHK) | KT R
08:50 29 10.0 i {BR1%@08:50 (FRFIERSE)
23| 29.0 (1%) 10.0 3ZHIREC: 2351, PH: 6.9

E&PH (8.61) 1R
RE XK i3k [B] RECEUR Fh ok

RER BB HEREC/PHEERR, FIREFMIMEELR K




XX6_1, Day=90 (2025-01-24)

T
(=2
o

T
N
o

T
N
o

T
o

FRV (ml plant-1)
o
~
1

=

TargetDrainEC=2000. 0, TargetSetEC=2351

TargetDrainPH=6. 0, TargetSetPH=6.9

0.2~

[=2}
o

016
1
Bylnit @90 05:01: ETF34 Fg=40.0 Ro=5.0

10

ET (ml/hr/plant)

p——& 4 4 4

S+ — 88

- 40

T
N
o

cumET (ml/plant)

=23
o

16 3 4 5 6 7 8 9

17

18

19

20

21

22

23

Zn|%5)| f

E3
B

E3
]

=
B

£33
B

E3
B

E3
]

=
B

£33
B

E3
B

3

B

=
B

£33
B

E3
B

3

10 1 ByWoFv @D90 23:55: ET=10 Fg=10.0 Ro=7.0

ET (ml/hr/plant)

- 40

T
N
o

cumET (ml/plant)

16

17

18

19

20

21

22

23

0.8

E3
]

=
B

£33
B

E3
B

E3
]

=
B

£33
B

E3
B

E3
]

=
B

£33
B

E3
B

E3
]

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

0.0 0.2 0.4

0.6

0.8

1.

0

FRV (ml d-1)






XX6

ORGSRy (0. 3087428716719335 -

[El&PH (8.63) e

BfiE) | BT (7)) | EME (EH/HK) | XS ERR
08:45 90 10.0 i B21£008:45 (RFERE)
23t 90.0 (1) 10.0 3203 KEC: 2317, PH: 6.9

0.35, 28.0 :

31.0ml)), AIEEAEEBEERKERE, BIAEH27.0 ml.




10.0

7.5

5.0

N
3

o
o
[e]e]

FRV (ml plant-1)
N w
S &

—_
o

o

e
©

016

10

ET (ml/hr/plant)

10

ET (ml/hr/plant)

p—ry

.0
0.8
0.6
0.4
0.2
0.0
400
300

200

100

2 04 w ® v
| X 4

XX6_1, Day=89.0 (2025-01-23)

- X Y Y- e Y e T Tt - - r - - - - - X V- - V- Y I I - 150
124 127
1 L 100 T
ae)
1 F9 6160 E
50 >
o
- L
9 10
" i
1 FRV N
| TargetDrainEC=2000.0, TargetSetEC=2317 t
i Warning: lcol ['ECB’,| 'ECC’'] missing
| TargetDrainPH=6.0, TargetSetPH=6.9 t
i Warning: lcol ['PHB',| "PHC'] missing
, 60
Bylnit @D89 04:50: EF=34 Fg=40.0 Ro=8.0 t =
1 c
- i & e & e & e & 9 - 40 =
I —&—o 6o —6—o =
| E
_ : —~ - 20 5
! 5
1 [3)
1
8 8 o £ g 60
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
c|%-| BB | BB | BB | BB | BB B 5 5 il B 5 5 il B 5 5 il B 5 )
1 c
1 ByWoFv-@D8923:55ET=10Fg=10.0Ro=5.0 : - 40 ‘—:_
~N
| E
1 20 =
o & o —6&—o6—6—© I E
4 @ @ \ 4 @ \ 4 @ @ : 3
D T RR—
b o - o e o E— Ll
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
|B | B | B | B |Zc|[ B | KB |BE| B | B B 5 5 il B 5 5 il B 5 5 il B 5
4 —_— 4
(] | _obs
T —@— PPFD obs
{ 4

0.0 0.2 0.4 0.6 0.8 1.

0






XX6

BfiE) | BT (7)) | EME (EH/HK) | XS ERR
08:45 90 10.0 i B21£008:45 (RFEREE)
23t 90.0 (1) 10.0 323 KEC: 2249, PH: 6.9

EORGERRER N (0. 27295962678974667 : 0.35, 55.0 :

Eli&PH (8.66) 1R
FE X 3 5] RECHIR TR K.

RER B HEREC/PHIETR K, FIRERMMIEELR K

69.0 ml)), FIEEAEEBHEEIOKERE, EIAEHS4.0 ml.




XX6_1, Day=88.0 (2025-01-22)

worF——m—m—mDm—o—0—D———D—_D0—/— T ___] - 150

T

080
[V a4
FRV

D
o
I

S
o
1
| ]|
I I

FRV (ml plant-1)

N
o o
]
I
I
1
I
|
|
I
1
I
1
I
I
]
I
1
==
I
I
I
|
|
I
i
I
I
I
I
|
|
i
1
I
I
I
I
|
i
I
1
I
I
I
I
i
|
I
1
I
I
I

TargetDrainEGC=2000. 0, TargetSetEC=2249

e
©

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetDrainPH=6. 0, TargetSetPH=6.9

©
N
1

Warning: lcol ['PHB',| "PHC'] missing

e
o

1
154 Bylnit @D88 04:50: EF=33 Fg=30.0 Ro=5.0

—_
o
1

(S}
1

ET (ml/hr/plant)

\ 4
[
P
[ )

4
0 1 2 3 4 5

— — ES 1= == ES ES 1= == ES ES 1= == ES ES 1= =3 ES ES 1= ==
EXNEZAN i H H 5 A G B 5 A G B B B G B B B G

—_
o O
1

T
S
o

cumET (ml/plant)

ByWoFv @D88 23:55: ET=10 Fg=10.0 Ro=6.0

—_
o
1

- 20

ET (ml/hr/plant)

90

o

0.8 1 P8 5 i FEFANRS i i 5 5 A G B B A G B B B G B B B G

0.6

0.4+

0.2+

0.0
400 4

—_— 4
(] | _obs

300 A —@— PPFD_obs

200 -

100 -

T
T obs
To_obs

RH
RH_obs
RHo obs

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)






XX6

BYiE) | GEBERTHC (B)) | EBRE (BEA/#K) | XS R
08:45 92 10.0 i B21£008:45 (RFERE)
2it| 92.0 (1) 10.0 B 3KEC: 2240, PH: 6.9

LORGEBIRTC (91. 0) 5T0HA (30. 0) AFF, FIEEIRSEXATIK, BKIAERE31.0 ml.

[E&PH (8.82) Wi




XX6_1, Day=87.0 (2025-01-21)

©
o

100 e —————F ]

N
($)]
1

5957
7.5
5.0
. 9

s o
o o
FRV (ml d-1)

T
N
o

T
o

e
o

FRV

FRV (ml plant-1)
N w I
S & &
1 1 =

—_
o
I

ESY

p—ry

TargetDrainEGC=2000. 0, TargetSetEC=2240

e

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetDrainPH=6. 0, TargetSetPH=6.9

e

Warning: lcol ['PHB',| "PHC'] missing

- ° o
o O N > (=] co o N > (=] co o
1 1 1 1 1 1 I I I

1
Bylnit @D87 04:47: EF=33 Fg=30.0 Ro=6.0
1

—_
o
1

(S}
1

ET (ml/hr/plant)

 E— ———
0 [ 1 [ 23] 4]5[6] 78739

18

19

20

21 22 23

—_
o O
1

B | B | BB | B | B |8

E3
B

=
B

= Hi E3
B B B

=
B

=
B

E3
B

E3
B

=
B

=
B

E3 E3 =
B B B

ByWoFv @D87 23:55: ET=10 Fg=10.0 Ro=5.0

—_
o
1

(S}
1

ET (ml/hr/plant)

A 4
®
®
®

ﬁ

99

16

17

18

19

20

21 22 23

o
(o]
1
™
i
™
]
™
i
™
i
™
i
™
]
™
i
™
i
™
i
™
]

E3
B

=
B

= E3 E3
B B B

=
B

E3
B

E3
B

=
B

=
B

E3 E3 =
B B B

0.6

0.4+

0.2+

0.0
400 4

300 -
200

100

—_—
(] | _obs
—@— PPFD obs

T obs
To _obs

60

40 ~

RH
[ ] RH_obs

RHo obs
20 -

0.0 0.2 0.4

0.6

0.8

1.

0

cumET (ml/plant)

cumET (ml/plant)



Plot [[' EcFgro', 'EcFzExp', 'EcPltng’, 'ECdef’ ]]

2200 T
: —>—  ECdef
2000 - 2008008000005000005500000000000800000000000v0000000508000000000000000000 000000 0000000000000000000000000005000005000000000000000000000000000000000000000000000000000005000000000000000000000000000000000500000050000850000880000000000
1800
1600 -
1400
1
1200 - sxssssssslianningmsaobed] EcFgro’, "EcFzExp', 'EcPltng’] is missing
1
T T I T T T T
0 50 100 150 200 250



Plot [’ ECopt’]

2200 T

1 —@— ECopt
2000
1800
1600 ~

1400 ~

1200 ~

0 50 100 150 200 250



Plot Sensor and FgRec Data

l ©
»
| O
[ee]
L ©
e}
| O
~
o
]
o
IO -
> > ™~
L Lo
T T “

day

90

75

—&— DUC

day

90

o0 o0 o 0 o

75

—&— FRV

day

—&— FRC

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

250
200
150
100
50 -

150 -
125
100
75 -
50 -
25 -
0

1.75 4
1.50
1.25 4
1. 00
0. 75 -
0. 50 -
0. 25 -
0. 00 -

90

85

80

75

70

day



400 +-

300

200

100

30 -

25

20

15

10

80

75

70

65

60

55

80

70

60

50

40

30

20

10

3.0

2.5

2.0

1.5

1.0

0.5

1.75

1.50

1.25

1.00

0.75

0.50

0.25

Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI

" optEtRate’ ]

| ]

NS

MA]‘

i /\/—/ VT
—
| \l 1
\MAW.VWE
. =
H |
| A 5
Plally,
Ilh MUY T —
V \/ 1,4\/
e |
; AN,
u// AN o i el M
J/ M N [ | e
I v 1N ! r \
| o \ﬂ/ DA AN AR
é » /\/—_ _\\ — LAl |
pe ; ~
/ i \‘\\
_~ i "~
. I/\ i
] M.W M\ . ' VYV AL WA
L ”Hl /Vr\, 1 M
I l i




80

60

40

20

Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]

——
—-——
——

setVI_ETcl
setVI_fgRec |
setVIl_VN

_”_;.

|

20

40

60

80

100




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

1600 ECl

1500 -
1400 - ®
200, BH_./'—‘/\.\*—./‘\././‘\'/‘\'/‘\.

1200 -
1100 -

arning: col ['ECC’, 'FVIEC'] is missing
1000

60 65 70 75 80 85



Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—@— ECO
1500 ~

1400 ~
1300
1200

1100 ~

1000 4 Warning: col ['FVOEC'] is missing

60 65 70 75 80 85



Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

Warning: col ['PHC’', 'FVIPH ] is missing

—@— PHI

60

65

70

80

85




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

.00

.15

.50 A

. 25 A

.00 -

.15 1

.50 A

Warning: col ['FVOPH'] is missing

—@— PHO

65




Trend plot forXX6 2

minFVI

minFVO |

Warning: col

['minFViraw' , 'minFVOraw'] is

missing

ETcAlraw |

1

|

®
—— ETcAl
—0— ETcA

Warning: col

['ETcA2raw’, 'ETcA2'] is missi

0.2

0.4

0.6

0.8

Warning: col

['ETcA2raw’, 'ETcA2avg', 'ETcA2'] missing

0.0

2000 1 —@— ECopt

—0— ECI
1800 - ECO
1600
1400
1200
Warning: col ["ECC’] is missing
1000 ]
1
9.0 T
—@— PHopt :
8.5__ PHI A A A A A A A A A A A A A A A A A A A A A
—@— PHO

Warning: col

['PHC'] is missing

31.5

—@— WCperM |

31.0

30.5

30.0 —Wmmmmmmmmmmmm

29.5

29.0

Warning: col

[ WCperMraw', 'WCperMavg'] is

missing

28.5

0.50 -W’“’“’“’“’“’“’“‘“’“’“’“’“’“’“’“’“’W’W’“mmﬂ

1
1
1
0.45 i
1
1
1
0.40 1
1
1 —@— minDeltaM
0.35 : ~0—  avgDeltaM -
: —8— stdDeltaM
0. 30 -
1
1
0.25 |
1
1
0. 20 -
30 —WMWQ‘WM‘Q“QQW& —@— begM N
: —O0— maxM
98 : —@— minM |
1
1
:
26 1

24

22

20 —mooommommmoooww

adjFVOR

-0.02

-0.04 Warning: col

"adjFVIRraw', "adjFVIR', "adj

VORraw’ ]

is missing

FRA
FRC

FRraw
FR 8

YYYYYYYYYYYYYYYYYYYY

YYYYYYYYYYYYYYYYVYYVYY

YYYYYYYVYYYVYYYYVYYYVYY

0 20 40 60 100
1
T I
: [ ] postFgEtraw
20 ¢ : —®— postFgEtavg |
1 —@— postFgEt
1
1
1
15 1
|
1
1
1
10 1
1
1
s .
|
5 I
y’ |
0




- 100

o o
[ee] ©
| 1

>
©

[

Y]

L
___________________&x\«.
O O OO0 0O O OO0 OO0 o0 O o0 o o o o o swm\
S I8 OB OV O W O B O W O W S I8 3 1V O

- — N N MO M F T 0 0 © © ™~ I~ 0 0o o



300

250

200

150

100

50

200

150

100

50

30 A

25

20

15 4

10

600 1~

500

400

300

200

100

400

300

200

100

80

75

70

65

60

55

80

60

40

20

XX6_2

—@— ETcl |

=@ ETbai

X v baia'y,
i (A ‘x‘_i‘y

(18wt

—8— PPFD

il

T
|

T
[ VL L

LA IRETT 9 e
lllrl loloat Ad|| |

oy ';'

o

!

—@— ETclis |
—®—  ETcPT
—@— ETcRn |
'
. " | @ ) § ) ) O 1
tlae I]
'-ll\ & "
-
VIIIF '
\ I
L
1
!
I
0 50 100 150 200 250



1.0
0.8
0.6
0.4
-0.2
-0.0
--0.2
-0.4
-0.6

913 #°P1°13 d°13 1d°l13 s!|2]3 oS3 013 !leq]3 yd adnd NA | d4dd 1

ETcl ETcldef ETcP ETcPT ETclis

ETol ETbai pR pVPD

ESo



& e
- - ‘& \'.
gr \.
. _ s E”' %
s e
N ] & @
i i N & e ©
— L) ' @ '
) & [
° o % $
= ® 08 S ®
(1] ) 5 AP
] - ) ° o
§° °
1 e ° 41 e ®
.. ‘g () .m\))n
{ s 1 *¥ o
" o e m ®
o ©® s. @® ®
g P o 1o €0
T T T T T T T T T
é‘
4 e 4 i
a <99,
_ & 2 i
o © Yoy,
° &
J & J 4
— [ k@k’&
@
s & g
- P & - — (S
a G &
-1 4& T .‘.’ ‘0. ]
A <
.ég 0g © o °
9z
- T T T T - T T T T T T T T T
(G
4 4 i &%
s @&
S (1
& 7
. . . 4 %
[ (
& e
4 %
- & v\\.
& e 9
- 4 °
E - N -
— ® ®
- 53
. )
< >
S ®
1 S o))
% r’fé.-‘\‘)‘"
o, o - oftes
A
[
T T T T T T T T T T T T T T T T
° ° ° °
200 - . 1 1 .
150 - . . . .
=
=>
100 . . . .
° ° ° °
50 ) - e . @ . - )
@ ® ® (((
° o‘ o ® L (O Jo
( jo
) .O [ ] ® O. ® ((0. (]
0 % 1 ® 1e% gl e 1 @
T T T T T T T T T T T T 1 1 1 = T T T T
) 2
S A
) %%
. & . 009, . .
400 . A o,
S A % Q
w““‘{‘.’) &° Do,
300 & . & - .
Ceo ° e
u® $&§I
— G ® G
& «
200 & 1 a G 1 .
(J
100 $ . 1 o0 @ ® -
&% 8
T T T T T T T T T T T T T T T T T
20 40 60 80 0 200 400 600 0 100 200 300 0 50 100 150 200 100 200 300 400

ETcl ETol ETbai VN I



350

300 -

250 -

200

150 -

100 -

50

1.0

0.8

0.6

0.4 -

0.2

0.0

1’|~

® obs
Fit

100

200

baiA

baiB

0.3798

0.02

0.0

0.2

0.4

0.6

0.8

1.

0

obs

200 ~

150 -

100 -

50 A

Fit vs obs: a=0.24, b=30.3

r=0. 06

1.0

Fit

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1

0



100
0
0
0
0

o
™
©

12:15

Jnoy



XX6

AriE) | EBIATK (FD) | EBE (EH/K) | XK EFRE

08:30 29 10.0 i FH@08:30 (KRFEREE)
12:15 29 10.0 | = Fnfe12:15 (REERSS)
2it| 58.0 (20%) 20.0 32303 KEC: 2276, PH: 6.9

E;&PH (8.55) 1R
RE XK i3k [B] RECEUR Fh ok

RER BB HEREC/PHEERR, FIREFMIMEELR K




0.2~

016

ET (ml/hr/plant)

>

e
»
»
»
»

o
o
1

0.6
0.4
0.2

a00

300

200

100

20

10

-10

60

40

XX6_2, Day=91

(2025-01-25)

FRV (ml plant-1)
o
~
1

TargetDrainEC=2000. 0, TargetSetEC=2276

TargetDrainPH=6. 0, TargetSetPH=6.9

1
1
1
1
10 1 ByWoFv @D91 04:34: ET=20 Fg=20. 0 Ro=80
1
1
1
I
1
1
1

9 10

14

15

16

17

18

19

20

21

22

23

il o
p==
i
p==]
B
p==]
B
p==
0
p==
i
p==]
B
p==]
B
p==
0

%=

%=

%=

%=

%=

%=

%=

A

H (=

1 Warplng:fol [Al_obs‘, PPFD gbs’ ]

is missing

Warning: lcol ['T_obs/] is missing

To_obs

¢p

RH_obs
RHo _obs

0.0 0.2

0.4

0.6

0.8

1.

0

- 20

- 10

FRV (ml d-1)

cumET (ml/plant)






XX6

BfiE) | FEBEETC (F)) | E=E (EH/FHK) | KT R
08:50 27 10.0 i {BR1%@08:50 (FRFIERSE)
23t 27.0 (%) 10.0 3ZHIREC: 2376, PH: 6.9

E;&PH (8.55) 1R
RE XK i3k [B] RECEUR Fh ok

RER BB HEREC/PHEERR, FIREFMIMEELR K




XX6_2, Day=90 (2025-01-24)

T
(=2
o

T
N
o

T
N
o

T
o

FRV (ml plant-1)
o
~
1

=

TargetDrainEC=2000. 0, TargetSetEC=2376

TargetDrainPH=6. 0, TargetSetPH=6.9

0.2~

[=2}
o

016
1
Bylnit @90 05:01: ETF34 Fg=40.0 Ro=5.0

10

ET (ml/hr/plant)

p——& 4 4 4

S+ — 88

- 40

T
N
o

cumET (ml/plant)

=23
o

16 3 4 5 6 7 8 9

17

18

19

20

21

22

23

Zn|%5)| f

E3
B

E3
]

=
B

£33
B

E3
B

E3
]

=
B

£33
B

E3
B

3

B

=
B

£33
B

E3
B

3

10 1 ByWoFv @D90 23:55: ET=10 Fg=10.0 Ro=7.0

ET (ml/hr/plant)

- 40

T
N
o

cumET (ml/plant)

16

17

18

19

20

21

22

23

0.8

E3
]

=
B

£33
B

E3
B

E3
]

=
B

£33
B

E3
B

E3
]

=
B

£33
B

E3
B

E3
]

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

0.0 0.2 0.4

0.6

0.8

1.

0

FRV (ml d-1)






XX6

ORGSRy (0. 3087428716719335 -

[El&PH (8.65) e

BfiE) | BT (7)) | EME (EH/HK) | XS ERR
08:45 90 10.0 i B21£008:45 (RFERE)
23t 90.0 (1) 10.0 3203 KEC: 2382, PH: 6.9

0.35, 28.0 :

34.0 ml)), AIEEAEEBEERKERE, BIAEH30.0 ml.




10. 0

7.5

5.0

N
3

o
[e]e]

FRV (ml plant-1)
N w
S &

—_
o

o

e
©

016

10

ET (ml/hr/plant)

10

ET (ml/hr/plant)

p—ry

.0
0.8
0.6
0.4
0.2
0.0
400
300

200

100

2 04 w ® v
| X 4

XX6_2, Day=89.0 (2025-01-23)

B D A
| L 300
i
| F200 ¢
. 127 -
i 9I I 6165 100 &
9 |1o
i ] I - _0
1 FRV N
TargetDrainEGC=2000. 0, TargetSetEC=2382 t
i Warning: lcol ['ECB’,| 'ECC’'] missing
TargetDrainPH=6. 0, TargetSetPH=6.9 t
i Warning: lcol ['PHB',| "PHC'] missing
, 60
Bylnit @D89 04:50: EF=34 Fg=40.0 Ro=8.0 t =
1 c
- ] e e & e & e & © - 40 =
I —&—o 6o —6—o =
| E
_ : —~ - 20 5
! 5
1 [3)
1
8 8 o £ g 60
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
c|%-| BB | BB | BB | BB | BB B 5 5 il B 5 5 il B 5 5 il B 5 )
1 c
1 ByWoFv-@D8923:55ET=10Fg=10.0Ro=5.0 : - 40 ‘—:_
~N
| E
1 20 =
o & o —6&—o6—6—© I E
4 @ @ \ 4 @ \ 4 @ © : %)
D T RR—
b o - o e o E— Ll
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
|B | B | B | B |Zc|[ B | KB |BE| B | B B 5 5 il B 5 5 il B 5 5 il B 5
4 —_— 4
(] | _obs
T —@— PPFD obs
1

0.0 0.2 0.4 0.6 0.8 1.

0






XX6

BfiE) | BT (7)) | EME (EH/HK) | XS ERR
08:45 90 10.0 i B21£008:45 (RFEREE)
23t 90.0 (1) 10.0 3203 KEC: 2392, PH: 6.9

EORGERRER N (0. 27295962678974667 : 0.35, 55.0 :

Eli%&PH (8.86) R
FE X 3 5] RECHIR TR K.

RER B HEREC/PHIETR K, FIRERMMIEELR K

75.0 ml)), FIEEAEEBHEEIOKERE, EIAEHS8.0 ml.




XX6_2, Day=88.0 (2025-01-22)

100 f—————F————-F————F—————F ]

- 300
7.5 4

50 - - 200

97
2.5 1 67 - 100
10 I 10
] =4+0

%08 7 v 4
FRV

150 - i
100 I

FRV (ml plant-1)

1
o
1

1.0
TargetDrainEC=2000. 0, TargetSetEC=2392

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetDrainPH=6. 0, TargetSetPH=6.9

0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
1
154 Bylnit @D88 04:50: EF=33 Fg=30.0 Ro=5.0

T =
S
o

cumET (ml/plant)

—_
o
1

- 20

(S}
1

ET (ml/hr/plant)

p—— 4 ® ®
0 1 2 3 4 5

— — ES ES 1= E3 ES ES 1= E3 ES ES 1= E3 ES ES 1= E3 ES ES 1=
EXNEFZAN 5 i H g B A B g B A B B B G B B B G

—_
a1 o
1

T
S
o

cumET (ml/plant)

ByWoFv @D88 23:55: ET=10 Fg=10.0 Ro=6.0

—_
o
1

- 20

ET (ml/hr/plant)

o

—_
o

0.6

0.4+

0.2~

0.0
400 4

—_— 4
o | _obs

300 A —@— PPFD_obs

200 -

100 -

T
T obs
To_obs

RH
RH_obs
RHo _obs

0.0 0.2 0.4 0.6 0.8 1.0

d-1)

FRV (ml






XX6

BYiE) | GEBERTHC (B)) | EBRE (BEA/#K) | XS R
08:45 92 10.0 i B21£008:45 (RFERE)
2it| 92.0 (1) 10.0 B 33KEC: 2178, PH: 6.9

LORGEBIRTC (91. 0) S5THA (27. 0) AFF, FIEEIRSEXATIK, BKIAERE35.0 ml.

EI&PH (8.71) 1R




10.0

7.5

5.0

N
3

1

o
N
o o

w
o

N
o

_ FRV (ml plant-1)
' =)

e

e

o o
—_ —_ - h
o o1 O N B [=2} (o] o N B [=2} (o] o

($)]

ET (ml/hr/plant)

—_ —_
o o1 O

($)]

ET (ml/hr/plant)

o

e
©

0.6
0.4
0.2

0.0
400
300
200

100

60

40

20 -

XX6_2, Day=87.0 (2025-01-21)

=
]

=N

FRV

TargetDrainEGC=2000. 0, TargetSetEC=2178

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetDrainPH=6. 0, TargetSetPH=6.9

Warning: lcol ['PHB',| "PHC'] missing

1
Bylnit @D87 04:47: EF=33 Fg=30.0 Ro=6.0
1

 a—— ————
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B B B B B B B B B B B B B B B B B B B B B

ByWoFv @D87 23:55: ET=10 Fg=10.0 Ro=5.0

99

(
|

B B B B B B B B B B B B B B B

1
il

{ — 1

(] | _obs
—@— PPFD obs

(] T _obs
o To_obs

7 RH
[ ] RH_obs
RHo obs

0.0 0.2 0.4 0.6 0.8 1.

0

cumET (ml/plant)

cumET (ml/plant)



